BEFORE INSTALLATION

- Professional Installation would be highly recommended,please seek assistance at local automotive shop if you
have any ditficulties in installing.

» Safety comes first ! Do not start to work on any vehicle without protection.
. An assistant would be better assist you in the bumper disassembly work.

- Keep cautions to prevent being scratched when working on any parts from the body of the vehicle.
- Do not touch the bulbs or the wire assembly before they are cooled to avoid the burns.

PRODUCT NUMBER

OEM :81150-0C040 / 81110-0C040 81150-0C031 / 81150-0C031 /81110-0C031 /81110-0C031

— - i 3 1.- '-.'-.:-“1I : . - 2 5
IS e < e

L
[} -
[1 e

- ..--"::. hy o

0 -
)
— .I " -.'
i = - e . .,
= " - !
5 - i o -
L, s
: i . b g .
! = -___ F ¥, — g _.... - b ""-\._ 5,
| e P -
; N - o etk = i S5 =] = : ey, .
[ o e s - \ o W
f ¢ s e e g oo, 0
i . = 1 e T y
. Sl 1 v =] e e : !
- gk i = Tl e ) \
B ekt - . : L L s - v s B | \ \
- T - F 2 — s B - i - et 2 |
a i 3 | T .. . T : e e -1' " -\-_' iy |
s k. B LS g - =" e
: P i . ay, i - ."
-
) i i = A
By, N
- o
/
I I

g it .
4 __..-. ._--_.-". 4 ,ﬂ_l:l_.l:._.-.l" / I !

L G A .
-"'}{r,r Ll i O

i o g J r el . o i

.f;ﬂ;ff;&f AP TR

F; P s e ___f'_l.;ll}.--_.-rl. T F

LA L S erRs L T

|
:

o

......

.............................



N\

] 1. Open the hood.

2. Remove the rivet on the headlight assembly housing.

3. Pull the corner light assembly forward and disconnect

wire harness.

{ 4. Twist signal light and side mark light sockets counterclockwise

and remove from the old corner light assembly.

NN

M

1. Remove (1) M6 hex bolt and (3) M6 hex nuts securing the headlamp in place.

2. Pull the headlamp forward and disconnect wire harness.
3. Remove the rubber cover behind the headlight bulb.
4. Release the bulb retaining spring and remove the headlight bulb.

5. Twist parking light socket counterclockwise and remove from the old headlight assembly.



1. Remove the rubber cover on the new headlight assembly housing.

2. Release the bulb retaining spring and insert the headlight bulb.

3. Secure the headlight bulb by the retaining spring.

4. Insert the parking light socket into the new headlight assembly and twist clockwise to secure.
5. Insert the signal light and side mark light sockets into the new corner light assembly and twist

clockwise to secure.

STEP 4

1. Place the headlight assembly on vehicle, connect wire harness.

2. Guiding the headlight assembly into mounting position.
3. Secure the headlight assembly by (1) M6 hex bolt and (3) M6 hex nuts.

STEP 5

1. Place the corner light assembly on vehicle, connect wire harness.

2. Guiding the corner light assembly into mounting position.

3. Secure the corner light assembly to headlight assembly housing by the rivet.

WARM TIPS \N

Before you begin to adjust the light, make sure check the

High/Low Beam Horizontal Field
Adjustment Screws alignment of your lights first. Park the vehicle about 10 to 25 feet

High Beam/Low Beam from the wall with the lights aimed at the wall. The centerlines of

= _ the headlights should not be any higher than 3.5 feet above the
y & 2 S L ground.

o
¢ | >
AN «.. Y i 1. Find the adjustment screws.

\h & I\ S £ Lk 2. Adjust the headlights individually.

O 3. Adjust the vertical fiela.
4. Test your results.

Turn Signal Light Daytime Running Light

High/Low Beam Vertical Field
Adjustment Screws



